Temp = T ('R717',P=P,x=1) — 0.001

Pam = 835

P = 260 + 835
H = 0.009

W = 0.035

L = 35

d = 0.012

RelRough = 0.005 [1]
Apate = 127 - 35

2 . Les = 0.0015

ksg = k ('Stainlessaisizos’ , TrE.har)
Cs = c ('Stainlessasizos’ » TrEehar) - 1000
Cice = ¢C ('lce', 0)

o = p('R717" ,T=T;ghar,Xx=0)

ps = rho ('Stainlessaisizos’ , TrE.har )
Kwater = k ('Water' , T=T\mnar+P =Patm )
Kice = k ('lce’, Tave,l,st‘)

Ccw = Cp ('Water' ,T=0,P=Pgy ) - 1000
ow = p('Water ,T=0,P=Pun )

Prehar = 510 + 835

Tienar = T(R717 ,P=P ghar,X=1)
Pevap = 260 + 835

Trepuid = T ('R717' ,P=Pgyap ., x=0)

pce = rho ('lce’, 0)

uip = Visc ('R717" ,T=T;gnar,X=0)
L
Bi = hipar © 2 - =2
Ks,E
ke
Os o Ce
t.
Fos = as 5
(2 ) Lc,s)
os - tan (gs) = Bi
c - 4 sin (os)

2 gs t+ sin(2 - gs)
THETA2 = C - exp (- os° - Fos)

Tw - Tr,E.har

= THETA2 - cos (o5 * X)
Tr,E,buiId - Tr,E.har

Twi = Oimer © (Trebuid = Trehar) + Trehar
Oimer = planewalltnp ( Xinner » Bi, Fog)
Two = © - (Trgpbuid = Trehar) + Trehar
Xx = 0

Xiner = 1

Xpars = 1

© = planewalltnp (X, Bi, Fos)

tim = tiMenaresting.wall

channels = 30

Q. = 24713

Vog = 08232

p = p(lce" ,T==2,P=Pam )



M condensed = 106.6
Miransfer = 161.3

hittranster = h ('R717' ,x=0 y T=TrEpuild + ZZ )

45 + 5 + 4
z = 3. 2
) ) - N [ -

08y TP )= 0y ORI P ) 8 Wy WK P el O g 0K P ¢ g g Doy 2+mwndensed PP ¢ B
m .
i {RIP Ph
th, = 90
he = 335

rhr,E.har
tin - 35 - 30 - 2

M E.har,per,channel =

htgh = h ('R717" ,P=PEnar,X=1) — h ('R717" ,P =P ghar,X=0)

Yim finar = 0.001105

g = 981

Fluid$¢ = 'R717

Wi = m- d

Tsaa = T ('R717" ,P=Prgpar,x=1) + 0.001
fht = rhr,E.har,per,channel

Call CondHorizontaITube,avg ( Fluid$ , rhtv Tsat » Twaves d, 1, 0: htp,EES,hor)
x = 05

Call Condporizontarrube  ( FIUI$ , My, X, Tsa, Twave, d © hipeespor . F$)
Uun = Visc ('R717" , T=T;gnar,X=0)

Hn = Visc (R717' , T=T\gpar,X=1)

p = p('R717' yP=PrEhar,X=0)

pB = p('R717' ,P=Pevap,x=0)

o = p(R717 ,P=Pghar,X=1)

g = p('R717' ,P=Peyqap ,x=1)
Cp = Cp (‘R717',x=0,P=P g pa )
ki = k ('R717' ,x=0,P =P Enar )
Pro= ¢y -~ 1000

0.5 0.1
8] Horv

2.22
htpp,c,1 = 0.023 - Re%® . pro4 . {1 + ]
T 0.89
Xt
_ m r,E.har,per,channel
Vel = ;
d
p- T 4
d
Re = p - Vel
Kol
grav = 9.81
k = k ('R717' ,x=0,P=P,char )
k3
i
L - (Tr,E.har - Tw,ave) :
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1 (3/4)

htp,J,K,hor = 0.728 - {

{g- (p— @) hign- 1000 - grav -

Ki
Nip,p,chor = hipp.ci1 q
. L
M condense = htp,v' (Tr,E.har - Tw.o) T d - m
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A\ = 3 M M condense ( )
o m- d- pg- grav
e = k
s A
TIm.harIayer,i = 0
Tr.E,build
Tave,l,sc = 27
Tio = 0
Yimaave = Yim
tm = 90
Tw.i + Tw.o
Twave = 2—
Pwv - Yimu - Cw - Tlm.har‘ = ks,E' (Tw,ave_ Tlm.har) - kice ' (Tlm.har - Tave,l,sc)
0
Timbhar = Timhari * .[ (Timpar ) dt
0
Vimu = 0.001105
TIm.har,i = 0
Tr,E.har - Tave.waterheat Tlm.har - Tave,l,sc
ace - hst - 1000 - Y = _
1 Les Yim 2 - Lice = VYim
+ 2 . +
hr.har I(s,E I(Water I(ice
2 - Lice = 0.00631 - Yin
Tavewaterheat = Tim.har
90
Yim = Yimi t J. (Yim ) dt
0
— -9
Yim,i = 1.0x10
_ 0.8 0.4 k
hl,shah = 0.023 - Re - Pr : CT
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1
X p
0.8
Nishah = Nishan - (1 = X)
1.8
Oshah
Co Y8
htp,Sh = Oshah - hl,shah
0.8
1
z = {— 1] pr %
X
38
Oshan2 = 1 + 20'95
0.04
0.8 076 (1 — X)
Nip,sh2 = Nishan - {(1 - X) + 38 - X : 0.38
Pr =

_ 2.09
htp,Sh,ave - hI,shah ' 055 + W

Nrhar = htp,v
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d -

Mol -
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Tw,ave)
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Tr, E.har — Tav e.waterheat

Odash = 1 Loo Vir
+ 2 . =+
htp,Sh ks,E I(wa’(er
s 9 0.009
hnewz = 0925 - |k*° . g° - g m- ;

Visc (' R717",T =Tt Enar  X= 0) - My E.har,per,channel
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